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‘The binary number 10100011 is stored in random access memory (RAM).
Alogical left shift of three places is performed on the binary number.
(a) Give the 8-bit binary number that will be stored after the shift has taken place.

Nl

(b) Tick (/) one box to show which statement about a logical left shift of two places is correct.

A Itwould divide the binary number by 2.

B Itwould multiply the binary number by 2.

€ Itwould divide the binary number by 4.

D Itwould multiply the binary number by 4.

m

(c) 10100011 can be stored as a two's complement integer.

Convert the two's complement integer 10100011 to denary. Show all your working.

(d) The binary number is measured as a byte because it has 8 bits.

State how many bytes there are in a kibibyte (KiB).
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Data can be measured in bits.

(a) Give the name of the data storage measurement that is equal to 8 bits.

vl

(b) State how many bits there are in a kibibyte (KiB).

-

(c) Give the name of the data storage measurement that is equal to 1024 gibibytes (GiB).

vl

(d) A 16-bit colour image has a resolution of 512 pixels wide by 512 pixels high.

Calculate the file size of the image in kibibytes (KiB). Show all your working.

Answer
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State what is meant by the data types integer and real.
Give an example of each.

Integer ...

Example ..

“
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Tick (v) one box to identify a method used to design and construct a solution to a computing
problem.

A analysis
B coding
C flowchart

D testing
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() The two binary integers 00110000 and 01100110 are added together.

Add the binary integers using binary addition and show your answer in binary. Show all your
working.
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3 Binary is a base 2 number system.
(a) Give the name of the number system that is base 16.

U}

(b) Three denary numbers are entered into a computer. The computer converts the numbers and
stores them as binary.

() Give the binary number that would be stored for each of the denary numbers.
10 ..

50 ...

201
B
Working space

) Explain why the data is converted to binary by the computer.
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